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Venus# show interfaces ethernet 0

Ethernet0 is up, line protocol is up

Hardware is Lance, address is 0060.5cf4.a9a8 (bia 0060.5cf4.a9%a8)
Internet address is 12.1.1.1/24

MTU 1500 bytes, BW 10000 Kbit, DLY 1000 usec,

reliability 255/255, txload 1/255, rxload 1/255

Encapsulation ARPA, loopback not set
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Venus# show interfaces serial 0

Serial0 is up, line protocol is up

Hardware is HD64570

Internet address is 172.16.10.2/24

MTU 1500 bytes, BW 784 Kbit, DLY 20000 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation FRAME-RELAY, loopback not set
Keepalive set (10 sec)

LMI eng sent 981, LMI stat recvd 330, LMI upd recvd 0, DTE LMI up
LMI eng recvd 340, LMI stat sent 0, LMI upd sent 0
LMI DLCI 1023 LMI type is CISCO frame relay DTE

Saturn# show interfaces serial 1

Serial0 is up, line protocol is up

Hardware is HD64570

Internet address is 172.16.10.1/24

MTU 1500 bytes, BW 224 Kbit, DLY 20000 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation FRAME-RELAY, loopback not set
Keepalive set (10 sec)

LMI eng sent 167, LMI stat recvd 168, LMI upd recvd 0, DTE LMI up
LMI eng recvd 0, LMI stat sent 0, LMI upd sent 0
LMI DLCI 1023 LMI type is CISCO frame relay DTE

Saturn# show interfaces ethernet 0

Ethernet0 is up, line protocol is up

Hardware is Lance, address is 0060.5cf4.a955 (bia 0060.5cf4.a955)
Internet address is 172.17.10.1/16

MTU 1500 bytes, BW 10000 Kbit, DLY 1000 usec,

reliability 255/255, txload 1/255, rxload 1/255

Encapsulation ARPA, loopback not set

show ip route FHE AtE501 IGRPOIAM A &S HEE] 2fE 2 + JU&LICH

Venus# show ip route 172.17.10.1

Routing entry for 172.17.0.0/16

Known via "igrp 100", distance 100, metric 14855

Redistributing via igrp 100

Advertised by igrp 100 (self originated)

Last update from 172.16.10.1 on seriall, 00:00:13 ago

Routing Descriptor Blocks:

* 172.16.10.1, from 172.16.10.1, 00:00:13 ago, via Serial0

Route metric is 14855, traffic share count is 1
Total delay is 21000 microseconds, minimum bandwidth is 784 Kbit
Reliability 255/255, minimum MTU 1500 bytes
Loading 1/255, Hops 0

sie A&t chExt Z&L o

HEZ = ¥ = + X[ = 10000000/784 + (2000 + 1000)/10 = 14855

Saturn# show ip route 12.1.1.1
Routing entry for 12.0.0.0/8
Known via "igrp 100", distance 100, metric 46742
Redistributing via igrp 100
Advertised by igrp 100 (self originated)
Last update from 172.16.10.2 on seriall, 00:00:43 ago
Routing Descriptor Blocks:
* 172.16.10.2, from 172.16.10.2, 00:00:43 ago, via Seriall
Route metric is 46742, traffic share count is 1
Total delay is 21000 microseconds, minimum bandwidth is 224 Kbit



Reliability 255/255, minimum MTU 1500 bytes
Loading 1/255, Hops 0

s A&t2 ChExt Z&L o

HEZ = CHHE + X|2d = 10000000/224 + (2000 + 1000)/10 = 46742
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Venus (config) # router igrp 100
Venus (config-router)# default-metric 10000 100 255 1 1500

047|A1 10000 = CHE =, 100 = X|d, 255 = QtXAd 1= 2E T, 1500 = MTU
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